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df = get_fundamentals(query(valuation,indicator), context.current_dt.strftime("%Y -
%m-%d"))

raw_data =[]
for index in range(len(df['code'])):
raw_data_item = {
'code’  :df['code’][indeX],
'market_cap'.df['market_cap'][index],
'pe_ratio' :df['pe_ratio'][index]
h

raw_data.append(raw_data_item)
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raw_data = sorted(raw_data,key = lambda item:item['market_cap'], reverse=True)

# R TANSL R GLI0%6G K EZ

fitered _market_cap = raw_data[:int(len(raw_data) * 0.9)]

# 5 BPETTM J. F0 =X % F100 4 7 2

filtered pe =[]

for stock In fitered_market_cap:

If stock['pe_ratio'] == None or math.isnan(stock['pe_ratio']) or
float(stock['pe_ratio']) < O or float(stock|'pe_ratio']) > 100:
continue

filtered_pe.append(stock['code’])
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# ho K 47 0 6 K 18 15 A
change pct_dict_list = load change_pct_data(context,filtered pe)
# 4 18 K 3k 18 5 HE A

change pct_dict_list = sorted(change pct_dict_list,key = lambda
item:item['change_pct'], reverse=False)

# IR gt 18 4710% ¢4 A5 &
change pct_dict_list = change pct_dict_list[0:(int(len(change pct_dict_list)*0.1))]
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# IR A GBS b
g.stock pool =[]
for stock in change_pct_dict_list:

g.stock pool.append(stock['code’])
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